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Note :  Draw diagrams and write equations whe

Lig$) - 1/ PART - 1
@y : (i) Siememsg edaTréSEpHELD afenendseLb. 15x1=15
(ii) Qar@asiu (Herer IO s selid Blasad UL efepLaud
Caip@sH5E5 OIS HLen Sen1Gaanub GEidg) eT(pHa|D:
(i} Answer all the guestions.
te answer from the given
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1. VR T B T S ) 1 7, ]i,lu,;!:,n,r|gi_,_ru gyl
(oo} CyHyy [,uf;’) ["IKHM
() Cull (1) Gessan tamsati, nin
Wihnch of the Tollowmy iy aliphate suturated hydrocarbon 7
fa)  CyHyy (h)  CyHyy
(el CyHyy {dy Al of the above

2. swCuwrwnd NaCl whmbn KCI saamysdsd sunflastiol Cer. Nall seysdi
s enflenq - 2°C aefléy KCI senasilen orIMUnivaiuml weapflonm wily
(1) - 1°C (wap) -2°C (&) 0= () —4°C

Equimelal aqueous solutions of NaCl and KCl are prepared, If the freczing point
of NaCl is -2°C, the freezing point of KCI solution is expected to be :

(a) -1°C (b) =-2°C (c) 0°C () -4C

3. gawsd Cengdladla +1 sflearelar sAura UL cwlons :
(1) —CICH3)3 > —CH(CH,), > —CH,CH, > —CH,
(=) —CH; > —CH,CH, > —CH(CHa), > —C(CHa),
(&) —CH;CH; > ~CH, > —C(CHy); > —CHICH,),
(%) —CH(CHg)y > —C(CH,), > —CH,CH, > ~CH,
The correct relative order of +1 effect of alkyl groups is :
{a} —C{CH,); > —CH(CH,), > —CH,CH,; > —CH,
(b) —CHz > —CH,CH, > —CH(CH;), > —C(CH,),
() —CH,CH, > —CH, > —C(CHy); > —~ CH(CH,),
(d) ~—CH(CH,), » —C(CH,); > —CH,CH, > ~CH,

0°C whHmd 1 atm BiPSsEded 7.5 g aumy 5.6 L sen sianenay 3ienL 15 Damem@sin
aafld ps e :

(=) CO (=4) NO (@) €Oy () N,O

7.5 g of a gas occupies a volume of 5.6 L at 0°C and 1 atm pressure. The gas

1§

(a] CO () NO (c) €O, (d N,0
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~ARIQITENg) i) Bt [héhdf),

(1) Sapmy sy emd sryesmy B

(%) SDD) LHEID SngeTmb Grein @i &fl. Giogyie smyeRTONETE Gnp@DE iyl

ellemasin B ELD.

(8) spyy WLHYD STTETEID G)FaEniiin geup).

() smpm wpmn srremmd @ran@io s BT ST oo Bl #1101

eler&aELncian.

Assertion : In monohaloarenes, clectrophilic substitution occurs at ortho and

para positions.

Reason : Halogen atom is a ring deactivator.

(a) Assertion is true but reason is false.

(b) Both assertion and reason are truc and reason is the correct explanation of
assertion.

(c)] Both assertion and reason are false.

(d) Both assertion and reason are true but reason is not the correct explanation

of assertion.

Aerauqmid ierelBaefledr Qummarteno #rym Lenmy

(<=1) aramgmeddl (<) Hlenm

() Hlevp/seansienay (W) Sensiaray

The intensive property among the quantities below is :

(a)

(c)

enthalpy (b} mass
_Weont (d) wvolume
volume

[ @@'-‘JQE‘ Turn over
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7.

Spsaarreupiled arg) sfurer sadmi @D ? N

(=) aﬁ]a:a@éﬁu.ln'm@ apenGeanTs whpth GerCGarré eilaarsmen o <siamatld
undlégio.

(=) soflaalie o grar g o@oulbdE Q-ar wHuy euGUTEHILD swHlene
wrglellos el Gopairs GsELD-

(8} Gauiufleaueney Qurmés swhee wrhled whoussr wIRUGD.

() eflenamuden @ UésEH(HHEID FOBlamaulmen e IEOTLD.

Which one of the following is incorrect statement ? .

(2] presence of catalyst affects both the forward reaction and reverse reaction

te the same extent,

(b} for a system at equilibrium Q is always less than the equilibrium constant.

fc} equilibrium constant varies with temperature,
(d} equilibrium can pe attained from either side of the reaction.

CummsEs.

(1) —NQ, (i)  yroeud
(2) —OCH, (i) SCarr
(8) —CHy;-CH,-cH, (iii) Bssn&ed
(4) —NH, (iv) @pCrr

() (LG, (2)-G), (3)-Giv), (4)-()

(<=) (1)), (2)-fiv), (3)-(i), (4)-(ii)
(&) (1)-v), (2)-(ii), (3)-[), (4)-Gi)
(F) (1)), (2)-(0), (3)-(iv), (4)-(iii)
Match the following :

(1) =NO, (i)  Propyl
(2) —OCH,4 (ii) Amino
(3) —-CH,;—CH,-CH, (iii) Methoxy
(4) —NH, {iv] Nitro

(&) (I)-(iti), (2)-(i), (3)-(iv), (4)-(i)
() (1)-(idi), (2)-(iv), (3)-(), (4)-(ii)
(c) (1)-(iv), (2)-(id), (3)-(3), (4)-(i)
(d) (1)-(id), (2)-(), (3)-(iv), (4)-(iii)
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(1) SFHwib (<) Gomg WD (@) migund (w) Quirliirdlubd
Spodumene is the mineral source for which of the following alkali metal ?

(a) Lithium (b] Sodium (c) Rubidium ([d) Potassium

EpsaramueeupmieT 8 Sidaul s FGrHo <hmames Dsran@erarsl ?
(<=1) BaCl, (<21,) MgCL, (@) 8rcly (F) CaCly

Which of the following has highest hydration encrgy ?

(a) BaCl, (o) MgCl, (c) SrICly (d) CaCl,
ipflgub = s GsramHeTars.

(=) 1p+2n (<2,) 1p+0n (@) 1p+1n () 2p+1n
Tritium nucleus contains :

{a) 1p+2n (b) lp+tOn (c) 1lp+ln (d) Z2p+ln

1Qeneumaueneubiles eTgl LT sTpssa@n QETETLEl ?

(=) 05 (=) OF
(@) Oy (w) Gaupdler g glibleene
Which one of the following is diamagnetic ?
(a) OF ) 0

© O, (d) Nomngc of these
[ Q@ﬁlq&; / Turn ove
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13.

14.

15.

Wanag e Amon enevs, GCan(Hast Giflenswe_ujb sllama] .

(en1) smbLeh ell@aray () Swoen afileveray

(Q) svnis alearay () WODHED eflananey
Splitung of spectral lines in an electric field is called :

(a) Compton effect (b) Zeeman effect

(¢) Stark effect (dl} Shielding effect

SbCoreflur GBae wHmw HCl gHee Rrando G Ber Gpmi aufiGw
@mm.&.sum@ Qrardo @Cr Cprgfle fpsstinGHdapen. Qeuamrant!p
apCurafluw GCarreny(® cuenemud B (PEeilad TG p_@mrrﬁeh,r_ug] ?

(=) SwCuoralur GRemauwmaD

(<) Gprder BOLLEEHGL

(@) Gpmian g SersHaub wgenonie

() evgnrygen @Gerrenrh EH@ULGEHD

A bottle of ammonia and a bottle of HCl connected through a long tube are opened
simultaneously at both ends. The white ammonium chloride Ting will be first

formed :

(a) near the ammonia bottle

{(b) at the centre of the tube

(c) throughout the length of the tube
{d) near the hydrogen chloride bottle

%HQ—E—CHS LoHmId CH;=CI—CH3 S Hwieoed :

0 o
(21) geflapdmibd LorHoenoUL () 2L @ilensa) S{EOLDLILSET
(@) eus Sienoriyse (7) Guiig sl wrHHwd

2]
CHQ—C'—CHQ, and CH2=?—CH3 are .
I
0 o
(a) optical isomers (b} resonating structures

(c) conformers (d) tautomers
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u@S - I / PART - I

sLLmuwnrs eflenLwefldaeb. 6x2=12

Note : Answer any six questions. Question No. 24 is Compulsory,

16.

17.

18.

19.

20.

21.

Slrmb swren Flenp — euanymEsayLb.

Define Gram equivalent mass,

L -Dmd wighléd sramiu@n sfeuls aosl jrascen oarafsmsai
FeRTESR (&,

C]?lcl:{.uate the maximum number of electrons that can be accommodated in L
shell.

gpeml euengwran ssLidenanTliy enanl_amyHaamer GHLA0HE.

Mention the three types of covalent hydrides.

sanafiéams Qeudponssra FUbsomamsdr wree ?

What are the conditions for the spontaneity of a process ?

CeuliugSler @Hur® s gpapau elasss.

Explain sign convention of heat.

swflana wrdled wHiy, Ko = w Usram_ ¢un swhloa laassrar
[NOJ" [H30]

S5@hg swar GeIwOLLL Geadlenaurn_el Hms.

Give a balanced chemical equation for the equilibrium reaction for which the
4 5

_ [NH;]"[0,]

equihl'brium constant is given by expression Kp = .
INoT* [H,0

[ é‘l@l’Jng' / Turn over
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22. "glsrGLnalls sSMmradsa’ gl QEmUSEMS ruim

Define the term “isotonic solution”.

23. asfe EOeT@raIL areuauny rECHATTE WwrDmeuml ?

How will you convert ethyl chloride to ethane ?

24. Gemaupd eflasener Lyigd Cails.

250°C

(i) CeHsCl+2NH, — ==

o
(ii) CgHsCl+2Na+Cl-C H;— 20

Complete the following reactions

= x 250°C
(IJ C6H5C| +21\H3 —W
(i)  CgHsClL+2Na+Cl—CoH, — 0

uEdl - II / PART - III

GO0y : sTemeuCuisnih ym) eflenrés@nég eflenwefl&man. elarr erar 33 -8(&
SLL Mg e _efsaeaylb. 6x3=18

Note :  Answer any six questions. Question No. 33 is compulsory,

25. Gamgl L seflwrisaiar 2 saflmCarin sremenenT aem&El(Ha.
(il €Oy (i) HoSO4
Calculate the oxidation number of underlined elements.

[l COy (i)  HpS04

26. aslymem BT Lt — CUEDITILIN| &Gy LD.

Define electron affinity.
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27. LraLafier ugH Sigpps efau Saps.

State Dalton Law of partial pressures.

28. @UU el BPHBE DY wHOGAHHS FO senr@ummaicn GurarT Hlanpenws

semadl_ e.gad QMU g e Gr(pSIs:
Write the formula to calculate the molar mass of a solute from rel
of vapour pressure values.

ative lowernng

29. HF gpeémp 2 HuTSo AL mé Cuop@uUTBHSIES apaId alflauflSameiD.

Describe the formation of HF molecule by orbital overlap.

30. gefl &RHA wrHHLLD ErEnpmEd eTemmen ?

What is meant by optical isomerism ?

31. smEsal WLHHILD eradLrTen Sl Quimrsessdla Gu eee GaugurBaar

ApenleneT H(HS.

Give any three differences between nucleophiles and electrophiles.

32. ersfdman Galibs srrib seps QuIlLTdub QuiorisGar._ GLer eflamenti-

URESIDEUTS Hapaig wigl ?

What happens when ethylene is passed through cold dilute alkaline potassium

permanganate ?

Qadleyser penpGu 1.8% 1072 M,

33. NH,, N, wpmd H, @y weup e swhland
—eAlef\mHE NH, 2(Haun@ sllenanésg

1.2x10-2 M b 3% 1072 M. Ny whmid Hy
suflee wrdldludien wHOSpeans SIHs.
The equilibrium concentrations of NHg, N, and H, are 1.8x1072 M,
1.2%10-2 M and 3X 10-2 M respectively- Calculate the equilibrium constant for
the formation of NH, from N and Hs-

[ﬁ@ﬂufﬁ / Tum o
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UM.W/PART-N iad
m 2 %5=
L&_\,ﬂqﬂq x ‘_wn\n'r_(i,ﬂ N"‘-‘-‘I|la.|\-\._“l,.'.,\ﬂ'm wileant ILIH"MNH—“
Note : Answer all the queanipns.

no4 AS angdunoner cgilraaflen eastaflhenm wirg) ?
: : T L i db) om e
PRl erawa e ey LHMID LT Td aenyULEHle

TS

34, (&'
(n)

Sig
(e el wIFHmen san flund urddd wepuiomen efleufaaaLb.
tal (1) How muany orcbitals are possible forn=4 7 .
Write the electronic configuration and orbital disgram for nitrogen,
OR .
(b}  Describe the Pauling methad for the determination of ionic radius.

(1)

35. (@) ) QuAlugHen apramul L LRTUSESEE STTeRTh cranar ?
i) Quflalwin, SEGHDUSHS o drar G saflhsaialmbs Ceumu@b
TCs@ID apeny LT EoETE S,
260605
() 95 YoHodlen Fpridudysener eleriss.
(al (i)  What are the reasons for the anomalous properties of Beryllium ?
(i) Give any three properties of Beryllium that are different from other

elements of the group.
OR

(b) Explain the characteristics of internal energy.

36. (=) Csrfiflaa ghp wguysaldmbs sor@urmaiisr Guorarh Beanmanul
ereleurny Sewdsl(Haumis ?
EETEMNE
() ausmpwumiGsayLd
() Severtiny Hamp
(ii) Genewriyg Garenrin
(iti) GlenarTiiy pHmed
(a) How will you determine the molar mass of solute from elevation of boiling
point ?
OR
(b) Define :
{ij Bond length
(ii) Bond angle
(iiij Bond enthalpy
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37. () erevdlyrar saisaenn whlddmps FEUS@TLED ghu@E
Feenoufenar sreueurm Elirenrudl dumi ?

IETE
(=) Geneumpib CaromsEnss IUPAC gpapuda Guwfips.
(1 CHS—(EH—(I:H—CHB
CH3 Br
fiij CH,-0-CH,

(iii) CH; - CH,~ CH-CHO
I
OH

(iv] CH,=CH-CH=CH,

¥} CH3-c=C-CH-CH;4
I
Cl

(a)  How will you determine the ionic charae
clectroncgartivity values ?

OR

(b) Give the IUPAC names of the following ¢

(il CH3—CH-CH-CHjz
| |
CH; Br

(i) CH,-0-CH,

(iii) CH;—CH,~CH - CHO
I
OH

fiv)] CH,=CH-CH=C(CH,

(V) CHz-C=C-CH-CH,
Cl
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38, () Quandaflatimihay ,r._wgh.g‘i,anl_ (g oS amar GTEUsUNMI g,mmﬂf_tumu ?

q) @ Grm Quenden
(i) Quanden saunals uflend
(iii) BHC
VO
() (A) eremm eraflus gpcvban el o Lé eenanfipg Gomwd (B) - HOHEDE.

Guogid (B) <pens) ypCuraflureis aimanfibsl C,H,N erémp apwésn(y
aumiuurgener 2 el (C) ] smdpg. (C) -wrang) smiren Lsnlenr clenand (5
e CUBEADg. (&), (B) wopd (€ 8BS sehmi D15,
(a) How will you prepare the following compounds from benzene ?
(i) nitrobenzene
(i) benzene sulphonic acid
(il BHC
OR

(b) Simplest alkene (A) reacts with HCl to form compound (B). Compound (B)
reacts with ammonia to form compound (C) of molecular formula C,H;N.
Compound (C} undergoes carbylamine test. Identify (4), (B) and (C).
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